Atomic Energy Central School # 4, Rawatbhata
MCQ Test Date : 30.08.2019
Name of the student : Class-III Sec.  Roll No.

Tick (v")the correct answer-

1) The opposite of slowly is

a) run b) fast c) suddenly d) smoothly
2) The word that rhymes with root

a) food b) wood c) shoot d) good
3) The acorn the dew

a) drink b) eat C) sipped d) cooked
4) The meaning of enormous is

a) huge b) small c) tiny d) fat
5) The old man planted some seeds

a) plum b) radish c) turnip d) carrot
6) The opposite of pick is

a) catch b) drop c) hold d) took
7)Aglassof

a) flowers b) matches  ¢) paper d) water
8) A butterfly flow around in Sonu's garden

a) green b) blue C) red d) yellow
9) The balloon man stands in the square

a) ground b) market C) jungle d) school

10) The opposite of rainy is

a) winter b) summer C) sunny d) cloudy
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11) ‘A AT Fgd’ hiddl & hid I ATH FAT & ?

&, TAIRGT T 3mEaTaT g. &R ¢a dds
9. Plog; [ashe o, Jrarer sefr

12) ‘dreel’ ST 9ITIATRIT QU T §IATT ?
. UdeT g. Slelh I, TeTER g, ey

13) f&U 31T erse] H T HET Telel I HTATT hiod AT § ?
. FGT g, 9qdam a1, AT . 'ar

14) *37eX’ 2Teg;, T [ Use, Ber |
. SIT3T g, A3 . Gl 3ACIEY

15) el T "HARAATIR’ e, T T T FIT I ?
. AAUR T AHAUR I HRAUR L JAYATUR

16) ‘3T& Gelt Y Fell Tg=TT’ HETa T Y AT gIamm ?

. 3T H UsAT ™. 3T R AT

T, oA . ST g o6l
17) \f@eT — M@’ Thgehr 3mareT & ?

. Uil T T . Solol dolel I

1. SHYST Bed Sl . AFdr T8 @ &

18) W& W G A1 SATeT dTel SITTaX IR AR o133 —
. I g. g 1. oot o, °Isr

19) ‘afga’ &1 Efeier = g ?
. AGRIAT g. 9f3dissl 1. A& . aifaeT

20) ‘TAT AsE T Tl 31 FIT g1 ?
. g<aT g. 919 . THd g, §hR
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21) Which year was it three years back 20117
A) 2008 B) 2009 C) 2015 D) 2014

22) How many edges are there in a dice ?
A) 10 B) 6 C) 8 D) 12

23) Reena bought a shirt for Rs. 275 and trousers for Rs. 185. How much
money did she spend altogether ?
A) 180 B) 360 C) 460 D) 90

24) Observe the pattern and write the missing numbers.

360 340 320 ____ 280
A) 300 B) 305 C) 290 D) 295

25) Sameer is 35 years old. Salman is 68 years old. How much younger is
Sameer than Salman?
A) 43 B) 23 C) 33 D) 13

26) We are two numbers. If you add us you get 100. The difference
between us is also 100. What numbers are we?

A) 0 and 100 B) 50 and 50
C) 0 and 200 D) 0and 150

27) The standard unit for measuring long distance is.
A) Millimetre B) Centimetre
C) Inches D) Kilometre

28) Jahnavi’s height is 8 cm more than 1 metre. Her height is cm.
A) 18 B) 180 C) 108cm D) 100

29) Rinky’s height is 20 cm less than 1 metre. Her height is cm.
A) 102 B) 120 C) 121 D) 80

30) Geeta’s height is 5 cm more than 1 metre. Her height is cm.
A) 100 B) 105 C) 95 D) 90
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31) When we are hungry, we get a feeling that the stomach is :

a) full b) half C) empty d) none of the these
32) Mother’s milk is the best food for —

a) babies b) old people c¢) adult d) young children
33) Kheer is made from —

a) wheat b) rice C) vegetable d) fruits

34) Curd is needed to make —

a) chapati b) lassi c) biryani d) pulao
35) we get from animals —

a) fruits b) leaves C) vegetables d) eggs
36) We have sense organs.

a) two b) three c) five d) ten

37) People who cannot hear are known as —
a) deaf b) blind c) dumb d) handicap

38) We hear with our —

a) eyes b) ears C) hose d) skin
39) Eyes helps us to the world around us.
a) see b) hear c) taste d) smell

40) We can taste our food using —

a) ears b) nose c) tongue d) skin

Page 4 of 4




